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1. Compute 03 from the definition.
2. Show that P,, commutes with finite limits, and filtered colimits

3. Show that P, (F oX) ~ P,(F)oX and P,(Qo F) ~ QP,(F). Find
0+(92), and 0,(%).

4. Show that F,(F oSq) = Pz |(F) o Sq, where Sq(X) = X A X. Find
0«(Sq).

In the following functors are between spaces and reduced. The following
are some of the key observations in Sarah Yeakel’s proof of the chain rule.

e. Let \/,, : C" = C be (X1,...,Xy) — V; X;. Show that

cra(F) (X1, X2) = ol (el (F o \/)) (X1, Xa),
2

where crgi) is apply the first cross effect to the ¢’th coordinate.
f. Show that there is a map F o cri(G) — cr1(F o G)
From here one construct maps
crg(F)(crp, (G), ... crp, (G)) = eyt 4, (F 0 G)
These induces maps Ok (F) A Op, (G) A ... A On, (G) = Ony4.. iy (F 0 G).

VII. Show that for Ay : Lo 5 Ho : cry then crg o Ay ~ id.



